
BATTERY CHARGER SPARES CODE

STOCK No DESCRIPTION
7A5150 EU Charger
7A5151 US Charger
7A5152 UK Charger
7A5153 AU Charger

www.pccox.co.uk
sales@pccox.co.uk

TEL:44(0)1635 264500

REV DATE
Electraflow 400 10:1

A 13/02/2008

2F1204 M8 Lock Nut 3
2F1430 M4 Washer 1
2F1641 M6 x 10mm Button Head Screw 8
2F1715 Screw 1
2F2029 Roll Pin 1
2M1085 Plastic Knob 1
2M6107 Barrel Screw Insert 1
2P1036 Plunger Ally 15mm 1
2XH002 Hanging Hook 1
3B5267 Bulkhead Plate 1
3F1110 Frame 4
3F2439 Formed Washer 1
3F5068 Front Plate 1
3P1092 Plunger Ally 60mm 1
3R6357 Rack 357mm 1
3XB052 Barrel Screw 1
3XS051 Electraflow Bi-mixer Spacer 1
3XY005 Yoke 1
7A5100 Electraflow Butt 1
7A5200 Electraflow Battery 1
7R1223 Rod 345mm 1

Parts List
STOCK No DESCRIPTION QTY

2XH002

7A5100

3R63577R1223

3XY005

2F1204

2F1715
2F1430

2M1085

7A5200
3F2439

2M6107

3XB052

3F1110

3B5267

3P1092

2P1036

2F1641

3XS051

2F2029

3F5068

2F1204

2F1641



BATTERY CHARGER SPARES CODE

STOCK No DESCRIPTION
7A5150 EU Charger
7A5151 US Charger
7A5152 UK Charger
7A5153 AU Charger

www.pccox.co.uk
sales@pccox.co.uk

TEL:44(0)1635 264500

REV DATE
Electraflow 400 10:1

A 13/02/2008

2F1204 M8 Lock Nut 3
2F1430 M4 Washer 1
2F1641 M6 x 10mm Button Head Screw 8
2F1715 Screw 1
2F2029 Roll Pin 1
2M1085 Plastic Knob 1
2M6107 Barrel Screw Insert 1
2P1036 Plunger Ally 15mm 1
2XH002 Hanging Hook 1
3B5267 Bulkhead Plate 1
3F1110 Frame 4
3F2439 Formed Washer 1
3F5068 Front Plate 1
3P1092 Plunger Ally 60mm 1
3R6357 Rack 357mm 1
3XB052 Barrel Screw 1
3XS051 Electraflow Bi-mixer Spacer 1
3XY005 Yoke 1
7A5100 Electraflow Butt 1
7A5200 Electraflow Battery 1
7R1223 Rod 345mm 1

Parts List
STOCK No DESCRIPTION QTY

3B5267

2F1641

3F5068

3F1110

2F1204

2M6107
3F2439

3P1092

2P1036

3XB052

2F1641

3R6357

7A5200

7A5100

2XH002

7R1223

2F1204

2M1085

3XY005

2F1430
2F1715

2F2029

3XS051


